2
~ Section A (40 marks)

Answer all the questions in this section.

1 (a) Solve -24>3x.
o7 (- ) [1]
(b) Hence, state the largest integer that satisfies the inequality.
HNSWEE (D) wssussnwnnvmsin soums s s wwwans (1]
2 Giventhat p:g=5:4and g:r=3:7,find p:r.
BIEWEE 1 5v3 sismomammuns & wosrmmmmnsmin it [2]
3  Express, correct to 3 significant figures,
(a) 0.02496,
Answer (@) ....ooovvviiiiiiiiiiiii, (1]
(b) 32047.
APISWBE [B) - somisiii ismiaminmnss s 5 550 5 5esa 1]
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From the following set of numbers

22 10,45, <3, -2 4 49 13,
7 9
write down

(a) all the prime numbers,

BIEWOF U 55554 15 4155 5555 525535 tikbmwmmnns 1]
(b) all the irrational numbers,

Answer (D) .......iviiiiiiiinie, (1]
(¢) all the whole numbers.

ARSWEY () wonnsvnsnssinisisinnnvunenensons [1]

In'a computer game, players gain points by capturing the game’s characters which
appear at various time intervals.

Character 4 appears every 28 minutes, character B appears every 48 minutes and
character C appears every 120 minutes.

Ryan started playing the game at 8 am on Monday and all three characters appeared
together. When will all three characters next appear together again?

[Turn over
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4

Alex bought a laptop in May. During an IT fair in August, he noticed that the price of

the same laptop dropped by 16% to $2016.
(a) Calculate the original price of the laptop.
20 Ll (71 8 PO ——— [1]
(b) The salesman at the fair told Alex that the price, $2016, would be increased by
18% after the event. Alex thinks that the new price would be more than his
original purchase price. )
Do you think Alex is correct? Explain your answer with calculations.
................................................................................................. 2]
7 Derek started running at an average speed of 15 km/h for 20 minutes. He took a rest
of 10 minutes before running another 10 km in 50 minutes.
Calculate Derek’s average speed for his entire journey.
Answer i km/h {3]
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3x—7_2x+3 _
6

8 Solve

Answer X=.........iccociiiiiiiieiiiiin [3]

fTurn over
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The latest computer costs $2490. George purchased it on hire purchase according to
the following terms for the price:

A deposit of 30% and the remaining to be paid in monthly instalments over 2 years at
a simple interest rate of 3.5% per annum.

(a) Find the amount that George has to pay every month.

Answer ...
(b)  Find the total amount that George has +o pay A e tomputtec -

www.geniebook.com
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10  Meredith and her family travelled to Rio de Janeiro in Brazil to watch the 2016
Summer Olympic Games. The rate of exchange between Brazilian Real and
Singapore dollars (S$) is S$1 =2.37 Real.

(a) The family exchanged S$7650 and spent 8240 Real.
Calculate the remaining amount of money, in Real.

(b) Meredith travelled” . to the United States of America without her family
after the games ended.
She exchanged 6000 Real to US dollars (US$). The rate of exchange between
4 Usd and eer) is US$1 = 3.26 Real.
Calculate the amount of money, in US$, that Meredith has.

Answer (5 USS ........... S 1§ €5 S [1]

[Turn over

www.geniebook.com




8

11  The graph shows the amount of money a company spent on training programmes for
its employees in the first 4 months of 2016.

Am‘ourizt,spea.t (in $1000).— i
ol TR
70— : i

60]
50.
40}~
30
20
10 -2 - c 3
0 Jan Feb War Apt

monih
(a) Calculate the amount of money spent on training programmes in the four
months.

ki mf

L

ARTIEE (B3 B mcensmsmmuns ve 1 vosmmmeens

(b) Calculate the percentage decrease in the amount spent in training programmes
from January to February.

(c) Ifthe information is illustrated on a pie chart, find the angle of the sector for
April, giving your answer correct to one decimal place.

o5t o (1<) [P

(1]

(1]

www.geniebook.com




12 (a) Factorise 8x%y* —4xy° completely.

Answer (@) ........o;veiiiiiiiiiie e (1]

(b) Factorise 3a(2a-5)+5(b-2a).

(¢) Expand and simplify 3[-22x-2x(15-18y)].

Answer (€) .ocoooviiiiiiinininns NP [2]

[Turn over
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13  The diagram shows part of a regular polygon ABCDE... and a regular pentagon
DEFGH. It is given that LBAC =20°.

F

Calculate
(a) the exterior angle of the polygon ABCDE..., stating your reasons clearly,

Answer (@) ...ooooiiiiiiiiiiiii ° 2]

(b) the number of sides of the polygon ABCDE..., stating your reasons clearly,

(¢) ZCDH.

Answer () ........... ORI ° 2]

www.geniebook.com
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Section B (40 marks)
Answer all the questions in this section.

14 In the diagram, WX is parallel to YZ and #S is a straight line that intersects YZ at 7.

w - X
297

S
Given that ZWXT =59° and ZWTY =63°, find ZXTS . State your reasons clearly.  [3]

[Turn over
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15 ABCD is a parallelogram such that 4B =(8x-11)cmand 4D =(2x~-1) cm.
PQR is a triangle such that PO = (6x—3)cm, QR =2x cm and PR =(4x+3)cm.

R

D C

(2x-1) cm (4x+3) cm v -

A P Q
(8x-11) cm 5 (6x-3) cm

The perimeter of the parallelogram is equal to the perimeter of the triangle.

(a) By forming an equation in x, show that x=3. 2]
(b)  Given that the perpendicular from D to 4B is (3x—5) cm, find the area of the
parallelogram 4ABCD. (2]

www.geniebook.com
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16 In the diagram, 4BCD is a rhombus found in a kite BCDE. The diagonals CE and BD
intersect each other at M.

B
/ 110°
’ N |
D

Given that Z/BCD=110° and ZBED =30°, stating your reasons clearly, find

(a) ZBAD, (1]

(b) ZBME, (1]

(¢) ZABE. (3]
[Turn over

www.geniebook.com




17

14

Isabelle made a series of diagram using dots and lines. The first three figures are as
shown.

& F— ® &

Figure 1 Figure 2 )

Figure 3

(a) Draw Figure 4.

(b)  The number of dots and the number of the smallest right-angled triangles
formed to make each of the figures are shown in the table below.

Complete the table below for the row of Figure 4.

1 4 2
2 9 . 8
3 16 . 18
1 :

(¢) (i) Form an expression in 7, for the number of dots for Figure #.

(i) Hence, find the number of dots for Figure 37.
(d) Form an expression in 7, for the number of the smallest right-angled triangles
formed for Figure n .

(1]

[1]

(1]
(1]

(1]

www.geniebook.com
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18  Construct a quadrilateral PORS such that PQ = 10.5 cm, QR =5 cm, PS= 8 cm,

do~ 5.3emand ZPOR =70°. 2]
(a)  Construct the perpendicular bisector of OR. (1]
(b) The point X lies on the perpendicular bisector of QR and is equidistant from RS

and PS. By constructing a suitable line, find and label the point X. [2]
(c) Hence, measure and state the value of ZRSX . [1]
“}E

[Turn over
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16

The diagram below shows a cage for a pet hamster that comprises  a trapezium-
base prism ABCDEFGH with AB parallel to DC and an open cylindrical tunnel.
AB=43 em, BC=24cm, CD=50 cm, AD =25 cm and AE = 20 cm. ZABC =90°
and ZEFG =90°.

The cylindrical tunnel is 35 cm long.

\ 4

35cm

H

Take = % in your calculations.

(a) Given that the curved surface area of the cylindrical tunnel is 2200 cm?, show

that the radius of the cylindrical tunnel is approximately 10 cm. 1]
Hence, calculate
(b) the total volume of the cage, in /, [3]
(¢) the total surface area of the cage, in m?, (4]

Write your answer for the whole of question 19 on the next page.

www.geniebook.com
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Write your answer for the whole of question 19 on this page.

{Turn over
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Answer the whole of this question on a sheet of graph paper.

Two companies are recruiting students to sell a new energy drink, at $4 per bottle, at

the Food Fair during the December school holidays.

Drinks Paradise

Calling out to all students!
Eam $7/ hour and a
commission of 10% on your
total sales made!

Call us!

Yummy Palace

Are youan ‘N’/°O’/*A’
level graduate looking for a
part-time job?

Earn $10 / hour.

Join us now!

4 7

Christina is committed to working 8 hours a day.
The tables below show Christina’s possible income for one day, $y, when she sells

x bottles of energy drinks if she works for the respective companies.

Drinks Paradise:

T ,‘_:tt«‘, =

“Nutiiber 6f bottlés of ; - —~
36 p 104
0 80 120
80 80 80

(a)
(b)

©
(d)

(e)

Show that p=88.

(i) Using a scale of 2 cm to represent 20 bottles on the horizontal axis and
2 cm to represent $10 on the vertical axis, draw the graph of $y against
x bottles for Drinks Paradise.

(i)  Similarly, on the same axes, draw the graph for Yummy Palace.

State the equation of the line for Yummy Palace.

Find

(i) the gradient of the line,

(ii)  the y-intercept of the line..

Using both the graphs, determine the minimum number of bottles of energy
drinks that Christina needs to sell so that Drinks Paradise would be paying her
more than Yummy Palace.

(1]

B3]
(1]
(1]

(1]
(1]

(1]

END OF PAPER
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~ Section A (40 marks)
Answer all the questions in this section.

(a) Solve —24>3x.

24 >3x
2
2
—§ >
: B
/akker
Answer (a) T§k e wl-E [1]
(b) Hence, state the largest integer that satisfies the inequality.
— B\
Answer (b) .......... ‘q ................ [1]
Giventhat p:g=5:4and g:r=3:7,find p:r.
P‘.C(':g‘-4' q}“.(*——a‘.——}
=\5: 12 =228 — M A bath
Lpir=is:
Answer ........ L3 e venn 3 cnwens 28'-M [2]

Express, correct to 3 significant figures,
(a) 0.02496,

0.0250 —&| 1]

(b) 32047

ARSWEP D) i visianininsosismmimasinssi 1]
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o 5 3
4  From the following set of numbers
372-, L0, 5, -3, —g, 7z, 4.7, 13,

write down
(a) all the prime numbers,

P10 Ly () — 13 - p" ........ (1]
(b) all the irrational numbers,
dnswer (B) oo B BB 1]
(¢) all the whole numbers.
9,1, 18 =%
AMWBWEr(E) ionssisnivismininnsvonse \ ....... [1]

S  Ima computer game, players gain points by capturing the game’s characters which
appear at various time intervals.
Character 4 appears every 28 minutes, character B appears every 48 minutes and

character C appears every 120 minutes.
Ryan started playing the game at 8 am on Monday and all three characters appeared
together. When will all three characters next appear together again?

P52 2 48 120
=243 M % 4 60
A48 =24 % - -
120> 2% X345 3 18
3 6 \S
—M)
LCM = 2423 x5xF —M -
—~\6$0 inates )
=28
‘. fam, Mondoy £ 280 = 12pM, Tmesolms
Answer ....... \l{?mTMesdaa—f-}'l (3]

www.geniebook.com
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Alex bought a laptop in May. During an IT fair in August, he noticed that the price of
the same laptop dropped by 16% to $2016.
(a) Calculate the original price of the laptop.

oA gl prce = k;,i x $201b or m"?{:";,, x \007/>
=42400 ~ 42400
Answer (@) $ .......... 2400 —f \ ..... [1]

(b)  The salesman at the fair told Alex that the price, $2016, would be increased by
18% after the cvent. Alex thinks that the new price would be more than his

original purchase price. -
Do you think Alex is correct? Explain your answer with calculations.

W& qooi6 = §3338-8 —m)
\o0

...............................................................................................

.................................................................................................

................................................................................................. 2]
Derek started running at an average speed of 15 km/h for 20 minutes. He took a rest
of 10 minutes before running another 10 km in 50 minutes.
Calculate Derek’s average speed for his entire journey.
ol SAistonce = (5 x %(1;) + 10 —M}
I el
= 5 %10
= \5 v
4(0\—0\\ tme = 9,0-\—\0‘\'-‘;0
=~ f0o v
A
_s L M)
L oeroge e T ¢
={1.25 kmlh
e
dnswer 025 o NE L kmm (3]
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8  Solve 3x—-7_2x+3=_2'
3 6

_%2(_:_?'_ -»,):Z‘_j—?’- D P
2 &

2(3x -3) = (D43 = ~2.— M} common don ooty
6
bx -\ - 273 o
ox- - = -
6
Ax -\r=z -12 —— MY ampi iy

4x = -12%\3

! 9(\wv\\‘t\0ﬂ'0’
23 =¥ - (et ) =712 ——— ML remevng 4
-3 =\2
b - & - 2t
sy - \¥=-12 — WM wmphetd
dex =S
=\
Answer x=....... ’%‘:—-M ........... [31

[Turn over

www.geniebook.com




6
9

The latest computer costs $2490. George purchased it on hire purchase according to
the following terms for the price:

A deposit of 30% and the remaining to be paid in monthly instalments over 2 years at

a simple interest rate of 3.5% per annum.
(a)

Find the amount that George has to pay every month.

“Fo
oount y-ew\a\\r\\\f\g —\OT; x $24Q0
§343.

N

“wvtecest amant = 22

Mooty
L2 . 4343 x2 — B\
= %%

interest oot
=~ {122.0\.

. 35
30, 2440 X oo x2 —B)
oo
2 3)22.0\.
Moy Wstapment = (&\’—\4—’_«.  §122.0\) = 24

24333 Gdp)

Answer $> ......... I erresssvates
(b) Find the total amount that George has o P2y B e COMW

ftal omomnt = $2440 + $122.-0)
= §2612.0)
2.8 : o
_ (39 $4A0 x o ) T A4
N \ owpunt = L\UO # (oo
Mtemotiely, ;
$2612. 0\ -

www.geniebook.com
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7

Meredith and her family travelled to Rio de Janeiro in Brazil to watch the 2016
Summer Olympic Games. The rate of exchange between Brazilian Real and
Singapore dollars (S$) is S§1 =2.37 Real.

(a) The family exchanged S$7650 and spent 8240 Real.
Calculate the remaining amount of money, in Real.

omomt of maney left = 43650 - 8340 Rew|
= (350x 233) Ranl - 240 Can] — M|
= 4870.5D Red) .

(b) Meredith travelled” . to the United States of America without her family
after the games ended.

She exchanged 6000 Real to US dollars (US$). The rate of exchange between
US4 and el is US$1 = 3.26 Real. :
Calculate the amount of money, in US$, that Meredith has.

boou
2.26

Awmany o£ Mo/\ej =

=ug$ 1940.49 (2dp)

Answer (5) USS ... 152044 —h )

...........................

[Turn over
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11  The graph shows the amount of money a company spent on training programmes for
its employees in the first 4 months of 2016.
Amourgt.spent (in $1000)-

go[—— :
80 '{
79—
60
50.
40}~
36
20
10

g 'an

- - et

!

!
...a:.—.—'

i

i

R s

v

morth
(a) Calculate the amount of money spent on training programmes in the four
months.

0000+ 25D00 + A0 O + LdCLO

=250
ARSWEr LAY S consi s 18 D e rwumuses

(b) Calculate the percentage decrease in the amount spent in training programmes

from January to February.
60 VOO
= &% 'é' Yo
< ~R\
Answer (b) ........... LI %

(¢) Ifthe information is illustrated on a pie chart, find the angle of the sector for
April, giving your answer correct to one decimal place.

3 Ao hpals 2990 £ 3607 —wL

- 6% 0° (\dp)

(1]

(1]

(2]

www.geniebook.com




12 (a) Factorise 8x*y° —4xy° completely.

8x2y®- 4y’
= 4133(%(“ o)

(b) Factorise 3a(2a-5)+5(b—2a).

3a2a-)t S(b~20a)
> 30 (202 - 5 (26-0)
= (2a-5) (3a-S)

(¢) Expand and simplify 3[-22x-2x(15-18y)].

3[-22%- 2x (15-18»d )

= 3[- 2% - 30x + 36xy) —M1: exponiivn
= 35t t 36xY)
= -IBg Y 108 )

Answer (c) .......0.00 0 A [2]
[Turn over
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13

The diagram shows part of a regular polygon ABCDE... and a regular pentagon
DEFGH. 1t is given that ZBAC = 20°.

—*va\(\e \GQOWM' it
witging | gy reason
Fven L @ 2 (9 F
Calculate
(a) the exterior angle of the polygon ABCDE..., stating your reasons clearly,
YBch =20 (bage ¥ of s =M

Atenodely,
ext % = 20° v20° 3Bch = 20° (loge XS of mos .oy —HMI
=4 0° (ext. X of &)

XPBC= §OY~20° -20°
= 40° (¥ Q\AMO'(:A>

ot x > \fu° ~KO0” = 407 (k. ¥5 o~ O S

iwe)
Answer (@) ............ L A'l ...... ° 2]
(b)  the number of sides of the polygon ABCDE..., stating your reasons clearly,
" Meemairely |
ro. of sdes = 220 \ 2 1 v
<+ O
= gides. JAG® xma GO xn — B60°
40° xv» = 360°
n= 94
AFTHRE (D) ccev e snrvvn a‘*hi ....... 1]
(¢) ZCDH. '
hoE = (5 X1k’ BrovoRiely, e
S k. % of pertagyon= "5
= to§° —ML = F? el
¥CPE = 5P %CP = 4o”+ 32°
-~ xCDH = 360°- (§°- %0’ =112°
=n2e (¥s ot & P D
Answer (€) e, =R e
www.geniebook.com
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Section B (40 marks)
Answer all the questions in this section.

14  Inthe diagram, WX is parallel to YZ and WS is a straight line that intersects ¥Z at 7.

W > X
59°

63°

Kperoue \gosmetny’ i
MANng) [Wstng) 0N .

S
Given that ZWXT =59° and ZWTY =63°, find ZXTS. State your reasons clearly.  [3]

YXTE = S4° (V. %5,/ W) — M)
xsT2 = 63° (veds opp- %) —M
% XTS = §4°+ 63"

=122°.— R\

Mremorvely |

YA Ty = 59° (ale x5,/ el — M

2T X = o' - S4°-63"

> F° (00“, %S M A&V‘\\\f\e) (V\\

¥ 8% = (po° -1° - 58°
203° (o], BS on A &V )

S ¥XTS= 63°¢59°
=yt — K\

[Turn over
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15 ABCD is a parallelogram such that 4B =(8x-11)cmand 4D =(2x~1) cm.
POR is a triangle such that PQ = (6x—3)cm, QR =2x cm and PR =(4x+3)cm.

D C "
(2x-1) cm (4x+3) cm 2% em
Q
(8x-11) cm (6x-3) cm

The perimeter of the parallelogram is equal to the perimeter of the triangle.
(a) By forming an equation in x, show that x=3. 2]
(b)  Given that the perpendicular from D to ABis (3x—5) cm, find the area of the

parallelogram ABCD. (2]

(& 2(x -\ % &% )= (4o a) v (X =3 ¥ —ML: form egquaton.

2(\0x ) = \¢

20x - 24 > 12X

20X - \or = 24

Sy = 2%
w = 2 (S\’\OM\) : '—"R'\

o (B -0) x (2% -5)

5 OF callehoghr )
() ovea oF £ = [9(3) -0)- [5(39"53 — M-

ubgt rtution

_.\5_x4—
~52 cmE— A\

www.geniebook.com
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)‘ . B 13
' {EF 16 Inthe diagram, ABCD is a thombus found in a kite BCDE. The diagonals CE and BD
- lf‘ intersect each other at M.
4 ' B
30° 110°
E Y, i C
¥ gonalise e Seeamedtey” i
Wﬂ i w\tSS\\/\g realond -
¥ Jdo not lite under
== ’ ,,,dev Al oné.
b \Greornerting # jﬁ____‘_"‘f?‘

ove wW"‘ﬂl W\QS\V‘Q .

Given that ZBCD=110° and ZBED=3(°, stating your reasons clearly, find

(a) ZBAD,
(b) «BME,
(¢) ZABE.

(@) xBAD~ WO° (pp. %5 & Aroniant) —B)

1y
[1]
(3]

XABC =~ B’D" -\\0°

- 300 (v %5, /1twes) 7 By
¥ BAD > $p© -F0°
—W0® (k. s, (1 Bves)

() % BME = 20° (Qogprdds of Bife|dnamars) — Bl

() %8P =30 =2
=\5® (bisected ¥) — M
FMBE = Bo° - 40 S
235 (4 wm £4)
4&5(\4} \9’0‘,-‘\\0’

2

- 35 (base XS of zes. 8) — M

XARE = 36°-36"
= 40> —

Mevotvel.

¥CBE = 3607~307 W07

2
s W G sum of ouad)~MI

% Mg ¢ = §o° -\10°
=30° (k. xS, I WLy “l

X-P’&E = \[OD':‘O“
:ACOO'- PT‘

[Turn over
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17  Isabelle made a series of diagram using dots and lines. The first three figures are as
shown.

Figure 1 Figure 2 Bipure 3
(a) Draw Figure 4. [1]
(b)  The number of dots and the number of the smallest right-angled triangles
formed to make each of the figures are shown in the table below.
Complete the table below for the row of Figure 4. (1]
1 4 T 2
2 9 ' 8
3 16 18
4 5 32 -5

(©)

(@)

()

(i) Form an expression in 7, for the number of dots for Figure 7.

(i) Hence, find the number of dots for Figure 37.

Form an expression in 7, for the number of the smallest right-angled triangles
formed for Figuren .

L Aokt = (33x\)*

Xy no.

() ro. od gmeNle

= 2™ — B)

(1]
(1]

[1]

O vo. of ddfs = (n+1)? — B}
=~ \agq4 — B) (allns ect)

& ﬁgwfom%\eol A
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15
18 Construct a quadrilateral PORS such that PO = 10.5 cm, QR = 5 cm, PS=8 cm,
d- 5.3cmand LPOR=70°. [2]
(a) Construct the perpendicular bisector of OR. [1]
(b) The point X lies on the perpendicular bisector of QR and is equidistant from RS
and PS. By constructing a suitable line, find and label the point X. [2]
(c) Hence, measure and state the value of ZRSX . [11

B~ PQ, PS, G2 ond SR dmwn %
vodices loweled .

B\ — % PR deawn correRy.

v IOStW\\

(b) B\ — dradng anggle ieckor of Xpce.
B\ — locxting X ard ladoeltingy

() xpsx = 48° % 0.4°— BY

[Turn over
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16

The diagram below shows a cage for a pet hamster that comprises  a trapezium-
base prism ABCDEFGH with AB parallel to DC and an open cylindrical tunnel.
AB=43 ¢cm, BC=24 ¢cm, CD=50cm, AD =25 cm and AE =20 ¢cm. ZABC =90°
and ZEFG=90°.

The cylindrical tunnel is 35 cm long.

4

35cm

H

Take T= -2;—2 in your calculations.

(a)  Given that the curved surface area of the cylindrical tunnel is 2200 cm?, show
that the radius of the cylindrical tunnel is approximately 10 cm.

Hence, calculate
(b) the total volume of the cage, in /,
(¢) the total surface area of the cage, in m?,

Write your answer for the whole of question 19 on the next page.

www.geniebook.com
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Write your answer jfor the whole of question 19 on this page.

(0 ek ¥e mdive be v om,
owved oacfoce oven = 207 (85)
2200 = 2 (22)r (35
2300

22 L Al

= loevn.

r >

(v) <ot vlume
=[x (Gu+ 43D XVAYX20 + U%)(\o’)(ﬂ?)]—MHMl

= 22320 + \\O0O
= 33320 om3

- 33-3>—"-' _H\

(g +otad Wrloce ovea

(So x20) (24220} (?.‘SxZO)“I—a pAswm 3. A

~ {0 x (S04 42X 2 ¥ (43120} o

«2(Z)0) 39 - (YD @ﬁ-s.&

= 503 F BES
> Sy % em — My
levm = \&L)‘ m
‘wa:(;:;., 1
~ 0. 000\ ™M™

. &otcd sndouce el =

-

Lo r;.;% X 0000\

308% b o 0.636w" (250) —edner K

-_-—___.——-—'
4335

{Turn over
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20 Answer the whole of this question on a sheet of graph paper.

Two companies are recruiting students to sell a new energy drink, at $4 per bottle, at

the Food Fair during the December school holidays.

Drinks Paradise

Calling out to all students!
Earn $7 / hour and a
commission of 10% on your
total sales made!

Call us!

Yummy Palace

Are you an ‘N’/‘O’/‘A’
level graduate looking for a
part-time job?

Earn $10 / hour.

Join us now!

4 7

Christina is committed to working 8 hours a day.
The tables below show Christina’s possible income for one day, $y, when she sells

x bottles of energy drinks if she works for the respective companies.

Drinks Paradise:

B Numiber. 6 fboﬁles of’ ene{:’gyf“ﬁks 0 80 120
56 D 104
0 80 120
80 80 80

(a) Show that p=88.

Using a scale of 2 cm to represent 20 bottles on the horizontal axis and
2 cm to represent $10 on the vertical axis, draw the graph of $y against
x bottles for Drinks Paradise.
(i)  Similarly, on the same axes, draw the graph for Yummy Palace.
(¢) State the equation of the line for Yummy Palace.
(d) Find
(i) the gradient of the line,
(i) the y-intercept of the line. .
(e)  Using both the graphs, determine the minimum number of bottles of energy
drinks that Christina needs to sell so that Drinks Paradise would be paying her
more than Yummy Palace.

®) @

(1]

B3]
(1]
(1]

(1]
(1]

(1]

END OF PAPER
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